
Find all the missing measures: 

          __ 

<1 =       <17 =     AF = 8 in 

          __ 

<2 = 55°     <18 = 35°  AC =  

          __ 

<3 = 90°     <19 =     CF = 

          __ 

<4=       <20 =    NO = 2 in  

          __ 

<5 =       <21 =     OL = 

          __ 

<6 = 108°    <22 =    NL = 

          __ 

<7 = 70°     <23 =    EJ = 7 in 

          __ 

<8 =       <24 = 32°  EH = 

          __ 

<9 =       <25 = 57°  HJ = 

          __ 

<10 = 55°    <26 = 22°  HI = 

          __ 

<11 =       <27 = 32°  IJ = 

 

<12 =       <28 =  

 

<13 = 128°    <29 =  

 

<14 =         

 

<15 =  

 

<16 = 56° 



 

Line KC bisects segment AF 

Line NH bisects segment EJ 

Line MX bisects segment NL 

Line BI bisects segment HJ 
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